Graph the following polar curve: o -2
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1. What is the value of r when
#=07?

2. What is the value of # when
r=107?

3. What is the value of & when
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Graph the following polar curve:
r=-2+3cosd

1. What is the ;falue of r when

4=07

2. What is the value of ¢ when
r=07?

3. What is the value of ¢ when
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l. What is the value of r when
#=07?

2. What is the value of # when
r=10?

3. What is the value of & when
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2

Graph the following polar curve:
r=-2-3cos#

Graph the following polar curve:
r=2+3cosf

1. What is the ;ualue of r when
4=07

2. What is the value of ¢ when
r=107?

3. What is the value of ¢ when
§-%9
|

40|Page



Q-3

& ~
o
9o |-\
lgo | X
o7 &

Graph the following polar curve:
r=2-3siné

s

|. What is the value of r when
#=07?

2. What is the value of # when
r=10?

3. What is the value of & when
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Graph the following polar curve:
r=-2+3sind

. What is the value of r when
4=07

2. What is the value of ¢ when

r=107?

3. What is the value of ¢ when

o=%9
2 |
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r=—2+4siné
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Graph the following polar curve:
& lec r=2+3sin6 r=2+4sind
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l. What is the va'lue of r when 1

. What is the value of r when
#=07?

6=07

2. What is the value of # when 2

. What is the value of & when
r=10?

r=107?

3. What is the value of & when 3. What is the value of ¢ when
. - o ? ¢= L ?
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Graph the following polar curve:

r=-2-3smnf r=-2-4sinf
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Summary of the Limacon: » =+a+bcos@

For a polar equation to be considered a Limacon with a loop, the
value || must be smaller than J|.

Plug in #=0. This will give you the value of r and where you will
start the curve moving counterclockwise back to the pole.

The value of a will tell you where the curve is at on the y-axis

(when f?:% and 9=3?’T)

To complete the entire shape 0<#<2x.

The value of |a|+ |p|will tell you how far out on the x-axis the curve
18

The value of |a|- || will tell you how far out on the x-axis the loop
is

If b is negative the curve and the loop will be on the left side of the
pole

If'b is positive the curve and the loop will be on the right side of
the pole

Summary of the Limacon: 7 =*a*bsind

For a polar equation to be considered a Limacon with a loop, the
value |a| must be smaller than }|.

Plug in #=0. This will give you the value of r and where you will
start the curve moving counterclockwise back to the pole.

The value of a will tell you where the curve is at on the x-axis
(when =0 and @=r)

To complete the entire shape 0<#<2x.

The value of |a|+ p|will tell you how far out on the y-axis the curve
1S

The value of |a|- |5 will tell you how far out on the y-axis the loop
is

If b is negative the curve and the loop will be below the pole

If b is positive the curve and the loop will be above the pole
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Dimplc- Limccen
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Graph the following polar curve: qo (>
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1. What is the value of r when 1. What is the value of r when
#=07? 6=07
2. What is the value of r when 2. What is the value of r when
O=n? @=r?
2. What is the value of & when 2. What is the value of ¢ when
p=37 t=37
Graph the following polar curve:
& | o r=-3-2sind F=—3+20060 =1
o -3 w T S o | =l
Qo | -5
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Summary of the Dimpled Limacon: » =+a+bcos

For a polar equation to be considered a Dimpled Limacon, the
value |¢| must be larger than |5|.

Plug in #=0. This will give you the value of r and where you will
start the curve moving counterclockwise.

There will be no value at the pole.

The value of a will tell you where the curve is at on the y-axis
(when ()=% and ():37”)

To complete the entire shape 0<#<2x.
The value of |a|+ p|will tell you how far out to the right on the x-

axis the curve is if cosine is positive

The value of |a|+ |p|will tell you how far out to the left on the x-axis
the curve is if cosine is negative

The value of |a| - |p| will tell you how far out on the left of the x-
axis the curve is if cosine is positive

The value of |a|- [5| will tell you how far out on the right of the x-
axis the curve is if cosine is negative

Summary of the Limacon: »=+a+hsinf

For a polar equation to be considered a Dimpled Limacon, the
value |¢| must be larger than p|.

Plug in @=0. This will give you the value of r and where you will
start the curve moving counterclockwise.

There will be no value at the pole.

The value of a will tell you where the curve is at on the x-axis
(when =0 and 8=x)

To complete the entire shape 0<#<2r.

The value of |a|+ |p|will tell you how far up on the y-axis the curve
is if sine is positive

The value of ||+ p|will tell you how far up on the y-axis the curve
is if sine is negative

The value of |a|- || will tell you how far down on the y-axis the
curve is if sine is positive

The value of |o|- 5| will tell you how far up on the y-axis the curve
is if sine is negative

45|Page




